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ECONOMICS
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( Principles of M'acroecdnomics—'l )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions | 1x10=10
SR 2RI T it |

(a) Why do export form a part of National
income?

TO TS IWNT ¥ 9B =7 B @ =2

(b) Define disposable income.

IR S AT 40 )
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(c)

(d)

(e)
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L
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(2)

Which elements are
aggregate expenditure?

T TR SR & &2

included in

How <can we derive ‘investment
multiplier from marginal propensity to
consume? '

AT o 2R o[ R = @@e
oI w3 FRI A 2

What is meant by transfer payment?
BRI 2 feieat T & 2

When can net exports be negative?

b 3eift w9 = ?

What is token money?

oS @ 2

What is Keynesian concept about
money supply?
T YRS TWA Q@R 43 R 2

What is fiscal policy?
e NS 2

Define liquidity trap.
4% ¥ S5 iR |

( Continued )

2.

Answer the following questions :

(3)

SO PP Oy fi

(@)

()

()

@

(e)
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Distinguish between Private income and
Personal income.

SIS 49T W IF FRETS SRT 2937 &1 |

What is the difference between gross
domestic product at factor cost and at
market price?

A T W W T RS P w@
TRAT YT 14T

Write two limitations of measufeme,nt of

" National income.

GO S IR 701 e fore |

What are the components of consump-
tion function?

Berstel FoR TR R R 2

Why do. people demand liquid cash?
TR &9 Ao R i w3 2
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(4)

3. Answer any four of the following questions :
A 5x4=20
weTe A e R e wiReR e i

(@) Explain different methods of measuring
national income.

| EOR SIR I FIR SRS T F40 |

(b} Compute NNP at factor cost from the
following information :

T PR R TemE I wMiS fgh

T Bese Bfred
Iiem ¥ (in crores)
= 51 (iibe)
1. Wages and salaries 435
TR o
2. Rents 116
&=
3. Interest - 84
s
4. Profits 125
S .
S. Mixed income _ : 105
R um
6. Net factor income from abroad 70
%0 T tciie o

(¢) Explain the significance of money in a
modern economy.

ST WS T el o 4 |
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(5)

(d) Explain the factors determining the

(e)

4. Answer the following questions :

- marginal propensity to consume.

ofes com aaq—rﬁhmvraRTﬁvnmaﬂg§=mwm
Eall

What are the components of money
supply? Explain.

AR AR SAmerTR R R 2 urm w4
Discuss the role of monétary policy in
controlling inflation.

R e wiide AT g e
el

weTe il TR T fi

(@)
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Explain the basic issues of macro-
econormics.

B LT 1 TR TR
Or / %31

What adjustments are to be made to
calculate disposable income from GDP?
How far does GDP reflect natinoal well-

10x4=40

10

being? 7+3=10

I[N WA A9 FRIAA GDP (P wF
Beomee) 3 swem R a2 s T
T TN B FCA ATES F, A
1
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(6)

(b) State . and explain Keynesian
psychological law of consumption. What
are the assumptions of the law?

TR TRIRT o1 S0l Ie IF I
T4 | G TGOR HfSYRIPEE R R 2

Or/ «i%r
Distinguish  between aétua.l and

potential GDP. Explain the impact of
changes in Govt. expenditure and taxes

10

on National income. ' 2+8=10

6% SIF SORT 3 NI BRAM N o o
R T WE IR RIS WOR e
RTATCI SR ¢, T 391 |

() Explain how equilibrium national
income is determined by classical
theorists.

ARPe O™ TN ST SO WH
@oTed PR T3 cafea, i 0

Or / =T

Critically explain the cash transaction
approach of quantity theory of money.

TR SR TG AW (-NEAT TFOR <ol
SIS I 0|

10
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(7)

(d) What is liquidity preference? Explain

how equilibrium rate of interest is
determined according to Keynes. 2+8=10
oFer A 7 I O We @A
S o1 TS g R 1R, I 0

Or / %1

Explain the process of credit creation by
Commercial banks. What are the
limitations of credit creation power of
Commercial banks? 6+4=10
AT T 90 R afemws W T4

M @RI w1 B wAeR FARTEPER
R |
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